40
- Downward Longwave
== Upward Longwave (a)
30 - Downward Shortwave
—_ Upward Shortwave
o ——— Sensible Heat Flux
€ 20 | — Latent Heat Flux
E \/\—
>
@© -
c 10
o
C
©
x 07
=
Y
>
2-10 A
9] e~
c =
w e m—————T
_20___,—’—___ L T ——
M J ] A S (¢] N D J F M A
70 4 - present (ERAinterim)
—— future (ERAinterim + CMIP5 anom)
60 1
&
£ 50 -
=)
o 401
>
©
2
£ 301
o
<
[
2 20 A
=2
10 A
0 -
M J ) A S O N D ) F M A
0.82 1
0.81 A
0.80 1
0.79 1

——— present (ERAinterim)
0.744 — future (ERAinterim + CMIP5 anom)

M ] A S O N

—25 4

—30 1

Net longwave (W m-2)
A IS &
w o w

|
w
o

1

—55 1

——— present (ERAinterim)
- future (ERAinterim + CMIP5 anom)

Mo ] A S O

N
wv
1

N
o
1

Sensible heat flux (W m-2)
= [
o w

- present (ERAinterim)
—— future (ERAinterim + CMIP5 anom)

460 -

440 -

420 A

400 A

380 A

360

PBL height (m)

340 A

320 A

300 A

- present (ERAinterim)
- future (ERAinterim + CMIP5 anom)




